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	Ionic Bonding
	[bookmark: _GoBack]What type of elements bond with ionic bonds? 
A. Metals with metals
B. Metals with non-metals
C. Non-metals with non-metals
D. Metals with compounds
	In an ionic bond, the metal ion is
A. Positively charged because it has gained electrons
B. Negatively charged because it has lost electrons
C. Positively charged because it has lost electrons
D. Neutral because it hasn’t lost or gained electrons
	In an ionic bond, the non-metal ion is
A. Positively charged because it has gained electrons
B. Negatively charged because it has gained electrons
C. Positively charged because it has lost electrons
D. Neutral because it hasn’t lost or gained electrons
	The attractive force that exists between the charged particles is 
A. An electrostatic charge
B. An intermolecular force
C. A chemical bond
D. Velcro attraction
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	Covalent bonding
	What type of elements bond covalently?

A. Metals with metals
B. Metals with non-metals
C. Non-metals with non-metals
D. Metals with compounds
	Which of these molecules has a covalent bond?
A. NaCl
B. CuSO4
C. C6H12O6 
D. KOH

	The electrons in a covalent compound are
A. Shared
B. Swapped
C. Lost
D. Gained

	When elements react to make compounds each element will end up with what?
A. A full outer shell of electrons
B. A positive charge
C. A negative charge
D. A different numbers of protons
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	Metallic bonding
	What is a metallic bond?
A. A force of attraction between metal atoms
B. A force of attraction between metal ions
C. A force of attraction between metal ions and delocalised electrons
D. A force of attraction between delocalised electrons
	Why do metals conduct electricity?
A. The metal atoms can vibrate in the solid
B. The metal ions can move throughout the solid
C. The metallic bond holds the metal ions together
D. The delocalised electrons can move freely
	The delocalised electrons in a metal lattice come from the
A. Outer shell of electrons 
B. The inner shells
C. The nucleus 
D. The background atmosphere
	Why do most metals have high melting points?
A. The covalent bonds in metals is very strong
B. The ionic bonds in metals is very strong
C. The metallic bonds in metals are very weak
D. The metallic bonds in metals are very strong
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	Giant Covalent Structures
	Why is diamond so hard?
A. The ionic bonds between the carbon atoms are very strong
B. The covalently bonded carbon atoms are arranged as a simple molecule
C. The covalently bonded carbon atoms are arranged as a giant lattice
D. Carbon is bonded to 3 other carbon atoms
	Why is graphite so soft?
A. The atoms are arranged in hexagons in layers that are held together strongly
B. The atoms are arranged in hexagons in layers that are held together weakly
C. Carbon is strongly bonded to 3 other carbon atoms.
D. Carbon is weakly bonded to 3 other carbon atoms.
	What element are diamond and graphite made up of?
A. Sodium
B. Carbon
C. Carbon dioxide
D. Silicon
	The number of bonds each carbon atom has in diamond is
A. 6
B. 5
C. 3
D. 4
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	Simple molecules
	Which one of these is a simple molecule?
A. C (s)
B. H2S (g)
C. NaBr (s)
D. K2Cr2O7 (s)
	Why do simple molecules have low melting points? 
A. The intermolecular forces are very strong
B. The intramolecular forces are very weak.
C. The intramolecular forces are very strong.
D. The intermolecular forces are very weak.
	Why don’t simple molecules don’t conduct electricity in any state?
A. Their ions are not free to move.
B. The covalent bonds are too strong.
C. They don’t contain ions or free moving electrons.
D. They are not solids
	Sulphur has a melting temperature of 114oC and a boiling temperature of 444oC. Which of these statements is most likely to be true about sulphur?
A. Sulphur is a simple molecule.
B. Sulphur is a giant covalent molecule.
C. Sulphur is a giant ionic lattice.
D. Sulphur is a giant metallic lattice.
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	Nanoparticles
	What is the size of nanoparticles?
A. 1-10 x 10-5 m
B. 1-10 x 10-6 m
C. 1-10 x 10-9 m
D. 1-10 x 10-10 m
	Nanoparticles have special properties because:
A. They are very big
B. Their surface area to volume ratio is large
C. Their surface area to volume ration is small
D. They can dissolve in water
	Nanoparticles might be dangerous because
A. They have a vicious smell.
B. They can get inside cells and have unknown effects.
C. They don’t block out enough UV rays from the sun.
D. They are used in catalytic converters in cars.
	Buckminsterfullerene contains how many carbon atoms?
A. 50
B. 70
C. 80
D. 60
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	Atomic Structure
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	Atomic structure
	What are the three main sub-atomic particles?

A. Protons, neutrons and electrons
B. Ionic, covalent and metallic.
C. Nucleus and electrons and protons
D. Compounds, elements and mixtures
	What is the charge on a proton 

A. Negative
B. Neutral 
C. No charge 
D. Positive

	Why is there no overall charge on an atom?

A. There are the same number of protons and neutrons.
B. There are the same number of protons and electrons.
C. There are the same number of neutrons and electrons.
D. There are different numbers of protons and electrons.
	What makes an atom energetically stable?
 
A. Eight electrons in their inner shell.
B. More neutrons than electrons.
C. A full outer shell of electrons.
D. More protons than neutrons.

	
	
	
	A
	D
	B
	C

	 
	GCSE CAt (9)
	Mixtures
	Which of these is a mixture?
A. Carbon dioxide
B. Sea water
C. Sodium chloride
D. Water
	How could we separate two or more liquids?
A. Filtration
B. Chromatography
C. Fractional distillation
D. Sieving
	How could a mixture of food colourings be separated?
A. Chromatography
B. Filtration
C. Fractional distillation
D. Sieving
	Which of these is a chemical reaction?
A. Distillation
B. Evaporation
C. Melting
D. Frying an egg
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	History of the atom
	What does the plum pudding model of the atom suggest?

A. An atom has a positive nucleus orbited by negative electrons.
B. An atom has a distinct nucleus.
C. An atom is a ball of dilute positive charge with neutrons in it
D. An atom is a ball of dilute positive charge with electrons in it.
	Who discovered the electron?

A. Ernest Rutherford
B. JJ Thompson
C. Niels Bohr
D. Copernicus
	The nuclear model of the atom tells us that:

A. The mass of the atom is concentrated at the centre
B. An atom has protons, neutrons and electrons in the nucleus.
C. An atom has electrons in the nucleus
D. An atom has a nucleus made up of neutrons only
	Which of these statements best describes how scientific ideas became accepted?

A. New evidence is discovered which is published if it is likely to make a lot of money.
B. New evidence is discovered and published.
C. New evidence is discovered, peer reviewed and published
D. Scientists ignore new evidence if it does not agree with important theories.
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	Relative atomic mass
	Where is most of the mass in an atom?

A. The nucleus 
B. The electrons
C. The energy levels 
D. Only the protons
	What is the relative atomic mass of Sodium?

A. 11
B. 23
C. 14
D. 12
	What is the definition of an isotope?

A. Atoms of the same element that have different number of protons.
B. Atoms of the same elements that have different number of electrons.
C. Two atoms of the same elements that have different number of neutrons.
D. Two molecules of water.
	What is the relative formula mass of CH4?

A. 12
B. 4
C. 14
D. 16
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	The Periodic Table
	Describe one disadvantage of Newlands table of Octaves
A. All of the elements have been discovered 
B. All the elements have a symbol
C. There are more elements than Dalton’s table 
D. The elements are not divided into metals and non-metals
	Why did Mendeleev leave gaps in his periodic table
A. In case new elements were discovered.
B. The names of the elements could not fit into one box.
C. He did not like the design of his table 
D. He thought there were going to be gaps.
	What did the symbols that John Dalton use in his periodic look like
A. The first letter of the element
B. He did not use Symbols
C. A symbol to represent each element.
D. Numbers
	The early periodic tables were arranged in order of
A. Atomic number
B. Atomic mass
C. Alphabet
D. Relative formula mass
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	Group 1/7
	What happens to the reactivity of the elements going down group 1?

A. Increases
B. Stays the same
C. Decreases
D. Increases then decreases
	The reactivity of the Group 1 elements increases as we go down the group because:

A. Electrons are held more strongly to the nucleus
B. Electrons are held less strongly to the nucleus.
C. The outer electrons are closer to the nucleus and so are lost more easily.
D. The outer electrons are further from the nucleus and so are held to the nucleus more tightly.
	The reactivity of the Group 7 elements decreases as we go down the group because:

A. The atoms get smaller so electrons are held more strongly to the nucleus.
B. The atoms get smaller so electrons are held less strongly to the nucleus.
C. The atoms get larger so electrons are held more strongly to the nucleus.
D. The atoms get larger so electrons are held less strongly to the nucleus.
	What happens to the reactivity of the elements going down group 7?

A. Increases
B. Stays the same
C. Decreases
D. Increases then decreases
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